Expansion Loop Requirements.

" The expansion at the change of direction (i.e. points

Generally, lf the total expansion in any direction on the Pipeway

is less than 10", the loop could be avoided by locating an anchor
in the middle of the run.

The total expansion between loop anchors should not exceed 12".

"A" and .

"B"in the example, paragraph 1.4) should not exceed 5". Consult
the Supervising Stress engineer for any exceptions.
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: ;Location of loops and guides.

fExample:
500'-Q"
e
—
(:) - —— \\h ' —— &)
MAX EXP 12" DIA. STD WwT. MAX EXP .'
s" L*—'-—-—-V"
5"

Pipe Material = AS3 Gr. B
Design termperature = S500°F

' Expansion Co-efficient = 0.0362"/ft.

Commodity = HC (Vapor)
Insulation = none

Co~-efficient of friction = 0.3 (steel on steel)

Total expansion in the East-West direction.
(500'-0") x (0.0362) = 18.1"

Location of loop anchors. --Anchors should be located
in such a way that the expansion going into the loop
should not exceed 12" and the total unbalanced forces
at the anchors should be within the limiting criteria

(paragraph 1.2). Iocate anchors at 125°'-0" from points
"A" and. "B",
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